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is the highest waterfall in India?

A)Jog B)Magod
C)Barkana D)Kunchikal
Answer Key : A Your Response : A (Correct) Raise Objection(Question No. 3) (objection.aspx?qwr=3310159829&qwer=3)

Question No. 4
39 WA A, U FYS & a1g &) frsnd o ar ¥ 3@ sy A g S arfde §T @ 9@ At suge €
FYA: FYA X o 3curg F1 Ao fmar g1 afe Faa 3R qoraear FEroir € o 3mr 5§ 3k 5@ @l o
fasd: | 3cuTE I[oTacr 7 JreoT g =R . 3cuTE Fr FAd 3RT Qe =fgwl
AT @ fasey | & ar 1| aRome § B)&had fasshy || aRums &1
C)a ar sy | 3R &7 & 1| aRomar g D)faswy | 3R 1l gt aRome &1

In this question, a statement is given followed by two conclusions. Choose the conclusion(s) which best fit(s)
logically. Statement: Company X has marketed a product. If price and quality are the consideration, go ahead
and purchase it. Conclusions: . The product must be good in quality. Il. The price of product must be

reasonable.

A)Either conclusion | or 1l follows B)Only conclusion Il follows

C)Neither conclusion | nor Il follows D)Both conclusions | and Il follow

Answer Key : D Your Response : D (Correct) Raise Objection(Question No. 4) (objection.aspx?qwr=3310159829&qwer=4)

Question No. 5
gfe a* + a®b?> + b4 = 16 W a2 + ab + b2 = 8 §, A 'ab' & AT AT HI
A)3 B)8
C)6 D)1

If a* + a?b? + b* = 16 and a2 + ab + b2 = 8, then find the value of 'ab'.

A)3 B)8
C)6 D)1
Answer Key : A Your Response : Not Answered Raise Objection(Question No. 5) (objection.aspx?qwr=3310159829&qwer=5)

Question No. 6

&0 U e A FaT &, “qF F5H AY AT F gFlarT [T F QT §1" §0 3@ A5F § T HG 2
A)ser B)@Ter
C)drar D)#$

Hari says to a man, "This boy is the son of the only son of my father." How is the boy related to Hari?

A)Son B)Brother-in-law
C)Grandson D)Brother
Answer Key : A Your Response : A (Correct) Raise Objection(Question No. 6) (objection.aspx?qwr=3310159829&qwer=6)

Question No. 7
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TS = A & o an
A)TeITSes Tl 3T AR B) &St
C)acleisd D)&T

The Union State List of Indian Constitution was taken from-

A)United States of America B)Canada
C)Netherlands D)Russia
Answer Key : B Your Response : Not Answered Raise Objection(Question No. 7) (objection.aspx?qwr=3310159829&qwer=7)

Question No. 8
fArafaf@a srely @1 waueiqas 9§ AR A R v gea &1 3o &) 9T Sea—eT, 0], 91, geir 3R
A ofT eET-3eer AEi-P, 'Q, R, 'S’ AR T & reer-arenT IRage Avel-aE, I, g9 SR, SR 3N
AT ¥ T §, AfheT SR A § T sHer A @ @ i) S 'R AT I § qg AT A SEr Sar gl i)
e, 'S #r AT FR ¥ FCA §, AR 0], 'Q Fr AT gArS TS ¥ HA 1 i) ol Aa F AT A § SAGF
T, &7 @ AT FEA §1 iv) S R IARP A AET T §, 96 99 § A Ser g1 efaf@a F @ w5l s

BT FY AT &7
A)aT] B)ser i
C)ae D)ga

Read the following information carefully and answer the question given below. Five friends—Maha, Renu,
Banu, Suji and Thanu travel to five different cities—'P', 'Q’, 'R’, 'S' and 'T" by five different modes of transport
—bus, train, aero plane, car and boat but, not necessarily in the same order. (i) The person who travels to 'R’
does not travel by boat. (ii) Banu travels to 'S' by car, and Renu travels to 'Q" by aero plane. (iii) Suji travels by
boat whereas Thanu travels by train. (iv) The person who travels to 'R’, and 'P' does not travel by bus. Who
among the following travels to the city 'S?'

A)Banu B)Data inadequate
C)Thanu D)Suiji
Answer Key: A Your Response : Not Answered Raise Objection(Question No. 8) (objection.aspx?qwr=3310159829&qwer=8)

Question No. 9

TR 939 fAwrfaf@a & & fra @a @ we&fta 82
Ayefaa B)3Mew
C)eaa ¢faw D)FFhaTSir

With which of the following sports is Tiger Woods associated?

A)Tennis B)Golf
C)Table tennis D)Boxing
Answer Key : B Your Response : C (Wrong) Raise Objection(Question No. 9) (objection.aspx?qwr=3310159829&qwer=9)

Question No. 10
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Choose the alternative which closely resembles the paper fold of the

given figure.
NS S B !
: : : :

Answer Key : D  Your Response : Not Answered

AR #, fadhr Fqear s/

Question No. 11

EaRT yEfta gar €1

Raise Objection(Question No. 10) (objection.aspx?qwr=3310159829&qwer=10)
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B)facd #aTerT
D)EXIM d&

In India, the Foreign Exchange Reserves are managed by-
A)Private banks
C)Reserve Bank of India

Answer Key : C

Your Response : B (Wrong)

B)Ministry of Finance
D)EXIM bank
Raise Objection(Question No. 11) (objection.aspx?qwr=3310159829&qwer=11)

Question No. 12

I T 7 =47 FE ST A TS P BT HIH A= ATTEAT T FA AT g Ak
99 & XY % =1 7= ST 2|
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Choose the alternative that best resembles the mirror image of the
given figure when the mirror is held along XY.

~ (@)
c. D.

Answer Key:D  Your Response : D (Correct) Raise Objection(Question No. 12) (objection.aspx?qwr=3310159829&qwer=12)

Question No. 13

3T Y G|

A)KLOR B)IJRQ

C)DEWV D)CDXW

Find the ODD one out.

A)KLOR B)IJRQ

C)DEWV D)CDXW

Answer Key: A Your Response : A (Correct) Raise Objection(Question No. 13) (objection.aspx?qwr=3310159829&qwer=13)

Question No. 14
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11

14

How many triangles are there in the given figure?

11

14

Answer Key : C  Your Response : C (Correct)

Raise Objection(Question No. 14) (objection.aspx?qwr=3310159829&qwer=14)

Question No. 15

g v 31T 5 RAeie 7 2/3 fredt Torar &, ar frsli/Eer 7 3udr afa sam|
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A4 Prafyser B)8 Rrafi/ger

C)7.5 frsieer D)1.5 Rrai/eer

If a man walks 2/3 km in 5 minutes, find his speed in km/hr.

A)4 km/hr B)8 km/hr
C)7.5 km/hr D)1.5 km/hr
Answer Key : B Your Response : B (Correct) Raise Objection(Question No. 15) (objection.aspx?qwr=3310159829&qwer=15)

Question No. 16

sfther TR # feua g
A)aRa B) =T
C)geel D)so#t & 1S fashoq a1l

The Eiffel Tower is located in-

A)Paris B)Germany
C)ltaly D)None of the options
Answer Key: A Your Response : C (Wrong) Raise Objection(Question No. 16) (objection.aspx?qwr=3310159829&qwer=16)

Question No. 17
Hfoeler iRy wh AR ____ B
A)dsfiea et B)ehT
C)asiFeee D)Jgeraret

Anirban Lahiri is a professional-

A)Badminton player B)Golfer
C)Cyclist D)Wrestler
Answer Key: B Your Response : A (Wrong) Raise Objection(Question No. 17) (objection.aspx?qwr=3310159829&qwer=17)

Question No. 18

I AT HT FEAIH HleT 412

A)§T|T{T: B)aTeX
C)sTglait D)errg T8t

Who was the founder of the Mughal dynasty?

A)Humayun B)Babur
C)Jahangir D)Shah Jahan
Answer Key : B Your Response : B (Correct) Raise Objection(Question No. 18) (objection.aspx?qwr=3310159829&qwer=18)

Question No. 19

wINTg, AFT 7 & fhw deredr Rwd & T 872
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AyFHTerer B) freer TgiEr

C)sad & F1E RFeq agT D)Rrarfers wgrar

At the foot of which of the following hills is Chandigarh located?

A)Morni Hills B)Shimla Hills
C)None of the options D)Shivalik Hills
Answer Key : D Your Response : B (Wrong) Raise Objection(Question No. 19) (objection.aspx?qwr=3310159829&qwer=19)

Question No. 20
e @& AR 36F 3/5 & AT T A’ 50 ¥ WA =4 §?
A)125 B)75
C)100 D)130

The difference between a number and its three-fifths is 50. What is the number?

A)125 B)75
C)100 D)130
Answer Key: A Your Response : A (Correct) Raise Objection(Question No. 20) (objection.aspx?qwr=3310159829&qwer=20)

Question No. 21
e ofem ¥ ol & ve GHE F It @ AT ATeT 52 ATl @EH A ¥ 20% A 80 F AT I HIed
frar 3 asfRat F & 25% o 31 T AT 3iF urod AT AY 55% BIET F AT 3H H AT A
A)51.36 B)50.25
C)45.25 D)54.62

The arithmetic mean of the scores of a group of students in a test was 52. 20% of the boys secured a mean
score of 80 and the 25% of the girls secured a mean score of 31. Find the mean score of the remaining 55%

of students.

A)51.36 B)50.25

C)45.25 D)54.62

Answer Key : A Your Response : Not Answered Raise Objection(Question No. 21) (objection.aspx?qwr=3310159829&qwer=21)

Question No. 22

20 TEGHT F AR HeT x TEGHT F BAFT {eT & R g1 ARG 25% T 7 WoT @ar §, o X' F AT AT

ffav|
A)16 B)15
C)25 D)18

The cost price of 20 articles is the same as the selling price of x articles. If the profit is 25%, then find the
value of 'x'.
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C)25

Answer Key : A Your Response : Not Answered

39 e T T =FFT ST AT B AT HAH A= ATTEAT T FAAT g HATh

7997 % XY % AT 7= ST gl

O

B)15
D)18
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Raise Objection(Question No. 22) (objection.aspx?qwr=3310159829&qwer=22)

Question No. 23

X

&

O
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Choose the alternative that best resembles the mirror image of the
given figure when the mirror is held along XY.

X
C by
NI s [&)

c || D. ||(B-

Answer Key: A Your Response : A (Correct) Raise Objection(Question No. 23) (objection.aspx?qwr=3310159829&qwer=23)

Question No. 24

Fod e & R fr BT #t wwar 82
A)IT=aTer B)Irsgafd
C)HRd & HET =ararefier D)3=d ~IATel & HET wIraredier

Who appoints the Judges of the High Court?

A)Governor B)President
C)Chief Justice of India D)Chief Justice of the High Court
Answer Key: B Your Response : C (Wrong) Raise Objection(Question No. 24) (objection.aspx?qwr=3310159829&qwer=24)

Question No. 25

HRd & YIH 9 Ao i I?
A)erE froaet B)wlS Serglsh
C)an+ &feeew D)elfS ehotel

Who was the first Governor General of India?

A)Lord Ripon B)Lord Dalhousie
C)Warren Hastings D)Lord Curzon
Answer Key : C Your Response : D (Wrong) Raise Objection(Question No. 25) (objection.aspx?qwr=3310159829&qwer=25)

Question No. 26
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TSI AT ARPYT T §7?
A) T B) A& =aaeiter
C)3mrsgafd D)&HE

To whom among the following does the President give his resignation?

A)Prime Minister B)Chief Justice
C)Vice-President D)Parliament
Answer Key:C  Your Response : B (Wrong) Raise Objection(Question No. 26) (objection.aspx?qwr=3310159829&qwer=26)

Question No. 27
H@em F g HLI 110, 99, 86, (.), 54, 35

A)75 B)71
C)81 D)67

Find the missing number in the following series. 110, 99, 86, (...), 54, 35

A)75 B)71
C)81 D)67
Answer Key : B Your Response : B (Correct) Raise Objection(Question No. 27) (objection.aspx?qwr=3310159829&qwer=27)

Question No. 28
I arE 'AMMONIA' I 'DPPRQLD' & ¥ # Feaw fmam simer &, ar 'FKORULQH' & faw i Fr g
A)CONVERGE B) CHLORINE
C)CONVENER D)ELECTRON

If the word '"AMMONIA' is coded as 'DPPRQLD’', what should be the word for the code 'FKORULQH'?

A)CONVERGE B)CHLORINE
C)CONVENER D)ELECTRON
Answer Key: B Your Response : B (Correct) Raise Objection(Question No. 28) (objection.aspx?qwr=3310159829&qwer=28)

Question No. 29

XA BINCHFITTIN2I05T TR ac AT g FA:B=5:43RB:C=9:10, @ B & HR1 A

ffawi
A)%.360 B)%.450
C)%.400 D)%.210

If Rs.1210 is dividled among A, Band C, so that A:B=5:4and B: C =9: 10, find the share of B.
A)Rs.360 B)Rs.450

C)Rs.400 D)Rs.210
Answer Key: A Your Response : A (Correct) Raise Objection(Question No. 29) (objection.aspx?qwr=3310159829&qwer=29)
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Question No. 30

. 2 1 3 11 4
AT ol = — 42— 4 —
’ b 3 7 16 7
A |-3 .2
C. |1 3
Evaluate: g+l+§_£+é
5 3 7 16 7
A |3 -2
C. |1 3

Answer Key : C

Your Response : C (Correct)

Raise Objection(Question No. 30) (objection.aspx?qwr=3310159829&qwer=30)

Question No. 31
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1881 # aeiager 99 T Y e o Ram &2

A)TS FoteT B)ellS Soglall
C)ais Roua D) sietalierd

Who among the following repealed the Vernacular Press Act in 18817

A)Lord Curzon B)Lord Dalhousie
C)Lord Ripon D)Lord Cornwallis
Answer Key : C  Your Response : C (Correct) Raise Objection(Question No. 31) (objection.aspx?qwr=3310159829&qwer=31)

Question No. 32
farfaf@a # & slaar ARy 3ifSer 7 Rya 82
AT ST AT B)ggrear Hfex
C)@IoTd g AfR D)o & AT 3R gl Stereary | gt

Which of the following temples is located in Odisha?

A)Puri Jagannath Temple B)Brihadeeswarar Temple

C)Konark Sun Temple D)Both Konark Sun Temple and Puri Jagannath
Temple

Answer Key :D  Your Response : A (Wrong) Raise Objection(Question No. 32) (objection.aspx?qwr=3310159829&qwer=32)

Question No. 33
fPrafef@d IeeElr A FEUEEE 96 iR AT R v wa & 3ar &1 () 5F a3, R, v,
shferer, gt sk gR reer-3reer Fiost 7 yg W § B\d a7 A, B, C, D, E 3R F § | 3% g Rt &
T AIeThA # 0T AA-HAF & T [T TN I gl Tgar S drel, orel, J[emeh, &, dorelr 3 s,
FTelith I A F 9gT IR 8 XAr SR G §1 (ii) S AT T IgAaT & a8 Flaer 'D' F e §, i a®
S & FoHT g T § IF Floer ‘A" F ug W@ &1 (iii) R AT & FAwT 'C' F ygar & A1 & 'E' H (iv) W[ A
A §orie 9geT § AR 9 Fioer 'B' F wgar ¥l (v) A @i 'E' # A8 wgar §, AR Foh v & g
T Y Fiorot 'C' A A& 1 (vi) GIAT Pt T F wgar § i ar o shfaer a1 & R wosr ‘D' F e #
(vii) et 'E' & g AT ar ol 3R a7 & der T fr gede § AR deHr Fiasr A F ugar g1 e A @
1 T §7?
A)HIT TS T HT AT 6T Tl & B)aAfaer sierer 'E' & godr &
C)eeHTT & &Y T # Forde ugl ¥ D)@feret 'E' & O el T &1 geie Uged §
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rmation carefully and answer the question given below. (i) i j i

Lakshman, Nitish, Surya and Hari are studying in different colleges namely A, B, C, D, E and F. They attend a
ten days rafting course—each one wears different coloured helmet i.e. yellow, red, pink, green, purple and

blue, though not necessarily in the same order. (ii) The one who wears blue helmet studies in college 'D', and
the one who is wearing green helmet studies in college 'A'. (iii) Hari neither studies in college 'C' nor 'E'. (iv)
Raju wears pink helmet and studies in college 'B'. (v) Nitish does not study in college 'E', and purple colour
helmet does not belong to college 'C'. (vi) Surya studies in college 'F' and neither Nitish nor Dhilip studies in
college 'D'. (vii) College 'E' has neither purple nor yellow coloured helmet and Lakshman studies in college 'A’.
Which of the following is INCORRECT?

A)Surya does not wear Pink coloured helmet B)Nitish studies in college 'E'
C)Lakshman is wearing green coloured helmet D)Student of college 'E' wears red coloured helmet
Answer Key: B Your Response : Not Answered Raise Objection(Question No. 33) (objection.aspx?qwr=3310159829&qwer=33)

Question No. 34
s afda AfEr 7 I & AT T 3R Far 1 39 Iar goar ¢ & 4 frAae i are & g9 W) ag 20
ﬁmafr#qg"’a?rrlsmmﬁm#aaﬁwagwﬁmmqfamlwmqﬂmmﬁ?
A)15 foraY B)10 frel
C)20 faraf D)5 faratT

A person starts walking to attend a meeting. He finds that he will be late by 20 minutes if he walks at 4 km/hr.
He will reach 10 minutes early if he walks at 5 km/hr. How much distance should he cover?

A)15 km B)10 km
C)20 km D)5 km
Answer Key : B Your Response : Not Answered Raise Objection(Question No. 34) (objection.aspx?qwr=3310159829&qwer=34)

Question No. 35
ar et & A 3 @ 10 F 3 F § 3R gt A BT 1 : 2 & g #F §1 s wndey At &
3feIUTel T el S|
A4 : 5 B)6 : 5
C)3:5 D)2 :5

The volumes of two cones are in the ratio 3 : 10 and the radii of the cones are in the ratio of 1 : 2. Find the
ratio of their respective heights.

A)4:5 B)6: 5
C)3:5 D)2:5
Answer Key : B Your Response : B (Correct) Raise Objection(Question No. 35) (objection.aspx?qwr=3310159829&qwer=35)

Question No. 36

fAafaf@a & & e T & ISRO & g1 € 3 H9aTT ggeam VAW Flclion Seargaelet WeX (S-TIC) Ter 82
INGIGEGIE B)AGRISS

9
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aAt=uvnss D)3nf3am

S

In which of the following states has ISRO recently opened its first Space Technology Incubation Centre (S-

TIC)?
A)Tamil Nadu B)Maharashtra

C)Tripura D)Odisha

Answer Key : C  Your Response : C (Correct) Raise Objection(Question No. 36) (objection.aspx?qwr=3310159829&qwer=36)

Question No. 37

A7 # @ =1 Y RT T FdY Fr Fe@ g TF F T FWEM? ACDF : KMNP 1 EGHJ : ?
A)PRSU B)NPQS
C)OQRT D)QSTV

Which of the following will best complete the relationship given below? ACDF : KMNP :: EGHJ : ?

A)PRSU B)NPQS
C)OQRT D)QSTV
Answer Key : C  Your Response : C (Correct) Raise Objection(Question No. 37) (objection.aspx?qwr=3310159829&qwer=37)

Question No. 38

fafaf@a &7 & @R Yo A FEuegEE 96 MR A B v g 7 3ar &) vE Aceed SR
I AR B F AT RS Hr gamer = @7 81 3 3FEaR F g Arfaf@a dega @ o
(i) 60% 3R & AT TFH AW FIadh A AdH 50% 3Hhl & WA Uh Fell Flah| (i) FRE-FHRAT Foer
W (FMCG) AIHfET 3 %87 & 7 5 a¥ 1 3geal (i) Roer Adwast & dwgfadt & #7 @ 57 3 0=
(iv) =gFGH 60% 3if & T ALK FAetorie 7 BaffScar diar @ifkwl IR 1§ 3R (i) & 3remar
3§ AGES FY QU FAT §, AfheT 3/ BT FRPR 38 (FMCG) ARG & F7 & 77 3 Wil 7
FIA AT §, A FHH AT FOei & WRrafAs AAFA A AT 51 FFar ¢ A S 37AGER (i) F remar
3§ ATESt B YU AT ¢, Afer 3WF W 9 Roer Adwanst & & Rl ve & d1gfa WA &
FA TF 9T §, o 3HH AHA HN & B AR @ A I Fwar g1 Rt e RArafegew @ 55%
3P F WY FRET 7 TOAF §1 96 PRE-HAT FogeR 30 (FMCG) ARKRET & & % Roer 6 anf F wov
FT T &1 38F U 62% 3 & AT ALK Adsriie 7 Bealar s 81

A)3FIEar 1 fagerd fohar S =ifge B)3FHIGAR &I HATACT YT AN Sl AT grem
C)3FHicar &7 AT BT AR & AT grarm D)3er 3rqaied
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looking for professional in its marketing division. The ideal candidate must possess the following

rmation carefully and answer the question given below. A

qualifications: (i) A science graduate with a minimum of 60% marks or an arts graduate with a minimum of
50% marks. (ii) At least 5 years experience in Fast-Moving Consumer Goods (FMCG) marketing. (iii) At least
3 letters of recommendation from previous employers. (iv) Must have a degree/diploma in marketing/sales
management with a minimum of 60% marks. In case a candidate satisfies all the other criteria EXCEPT (ji),
but has at least 3 years work experience in Fast-Moving Consumer Goods (FMCG) marketing, then his/her
case may be referred to the Administrative officer of the company. In case a candidate satisfies all the other
criteria EXCEPT (jii), but has at least one letter of recommendation from any one of his/her previous
employers, then his/her case may be referred to the Deputy Manager of the company. Ishwarya is an
economics graduate with 55% marks from Delhi University. She has been working for the past 6 years in the
field of Fast-Moving Consumer Goods (FMCG) marketing. She also has a diploma in marketing management
with 62% marks.

A)The candidate has to be selected B)The candidate has to be referred to the

Administrative Officer
C)The candidate has to be referred to the DeputyD)Data inadequate

manager
Answer Key: D  Your Response : Not Answered Raise Objection(Question No. 38) (objection.aspx?qwr=3310159829&qwer=38)

Question No. 39

sel T aF oA e S AN QU 1w e Skar waer auier @1 Rsifoaw - veyfafaaw
A)drerer : drer B)reeT: Harefret
C)drar : T D)cirgr : Irar

Choose the pair that shows the same relationship as in the pair given below. Hindalium : Aluminium

A)Brass : Copper B)Carbon : Manganese
C)Lead : Silver D)Iron : Lead
Answer Key: A Your Response : B (Wrong) Raise Objection(Question No. 39) (objection.aspx?qwr=3310159829&qwer=39)

Question No. 40
el eI W 5% aiffe At X § 2 9§ & WUROT IR THYFE ST F I $.25 §1 97 AR F@|
A)¥.10000 B)%.5000
C)%.1000 D)¥.11000

The difference between the Simple and Compound Interests on a sum of money at the rate of 5% per annum
for 2 years is Rs.25. Find the sum.

A)Rs.10000 B)Rs.5000

C)Rs.1000 D)Rs.11000

Answer Key : A Your Response : Not Answered Raise Objection(Question No. 40) (objection.aspx?qwr=3310159829&qwer=40)
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Question No. 41

afEaarcmr s T s LA iR R wrarsacs
TrerfertaT arfernr & fatsre Irsa1 7 Tiaanit s |§ w2 a9 § 39edd 20 A7 AT
ITH SFEATE] @l T2 397471 1% 2

GET IT ON

Google Play

2014 2015 2016 2017 2018
=g

39 |FgF | 99 |F0E | 99 (" 99 (IR | 99 | F9
hiel 5200 | 720 | 8500 | 980 | 7400 | 850 | 6800 | 775 | 9500 |1125
aﬁ?ﬁr:nfgr 7500 | 840 | 9200 | 1050 | 8450 | 920 | 9200 | 980 | 8800 | 1020
3T Ja9r 8400 | 780 | 8800 | 1020 | 7800 | 890 | 8750 | 1010 | 9750 | 1250
FHilich 8100 | 950 | 9500 | 1240 | 8700 | 980 | 9700 | 1200 | 8950 | 995
L FARLLS 7800 | 870 | 7600 | 940 | 9800 | 1350 | 7600 | 945 | 7990 | 885

IqfEaa(3v). araanErT)

R FuT % S0 IS J IUTRT gUSHEal ST SEd ATa i)
A 8630 B. 8720
C. 8780 D. 8820

Study the following table and answer the question given below it.
The following table represents the number of candidates appeared and gualified
in a competitive examination from different states over the years.

Kerala

Tamil Nadu

Andhra
Pradesh

Karnataka

Maharashtra

Appeared (App.). Qualified(Qual.)

Find the average number of candidates who appeared from Tamil Nadu
during the given years.

A 8630 B. |8720

C. 8780 D. | 8820

Answer Key: A Your Response : Not Answered Raise Objection(Question No. 41) (objection.aspx?qwr=3310159829&qwer=41)

Question No. 42
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IREeTfy & N 3reueT §l

A)ATRTHT
CRIrser fasrd uRwe

B) =T asT
D)JTST=AT 3TITeT

The Vice-President is the ex-officio chairman of the-

A)Lok Sabha
C)National Development Council

Answer Key : B Your Response : B (Correct)

3T HY oA |
A)GHleIa @ ATgeh
C)giarex:

Find the ODD one out.
A)Shopkeeper : Customer
C)Doctor : Patient

Answer Key: B  Your Response : D (Wrong)

I Ao T = FIST0 S AET (X) & IS g0 &9 & dgd Afd+ 7419 2

B)Rajya Sabha
D)Planning Commission

GET IT ON
Google Play

Raise Objection(Question No. 42) (objection.aspx?qwr=3310159829&qwer=42)

Question No. 43

B)&Fesh : WISeT
D)aehrer : AEh

B)Clerk : File
D)Lawyer : Client

Raise Objection(Question No. 43) (objection.aspx?qwr=3310159829&qwer=43)

Question No. 44

(4]
A6
1
3]5]
(X)
5 G 2 5
3(6) |5 3 (U |6
() (Q) (R) (%)
A |@P) Faa (Q) FaeT
C. |® Fa= (S) Faer
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=4 |V

Choosetheattermdtive which closely resembles the folded form of

GET IT ON
Google Play

figure (X).

4]

6

1

3]5]

(X)

5 6 4 5

39 (512 [5]Y [6]!

) Q) (R) (%)
A, |(P)Only B. |(Q)Only
C. |(R) Only D. | (S)only

Answer Key: D  Your Response : Not Answered

Question No. 45

fwedt & @ 3@ 3T F1 g9 A AT B v e F wEw 3=
T ¥ U HLET ¢

Raise Objection(Question No. 44) (objection.aspx?qwr=3310159829&qwer=44)
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Choosefromr thealternatives the figure that best completes the
pattern given below.

C. "L\‘ D. %

Answer Key: C  Your Response : Not Answered Raise Objection(Question No. 45) (objection.aspx?qwr=3310159829&qwer=45)

Question No. 46
3l Fu3 elr Fust & 0 gy §, = -
A)d T F IS W@ arel gl B)a ¥ &us & #RY g Bl
C)d d™ & 3= TR 8l &l D)d A9 & § AAF g o

Woollen clothes are warmer than the cotton ones because-

A)They are better absorbers of heat B)They are heavier than cotton clothes
C)They are better radiators of heat D)They are poor conductors of heat
Answer Key : D Your Response : C (Wrong) Raise Objection(Question No. 46) (objection.aspx?qwr=3310159829&qwer=46)

Question No. 47

el e W 5% aif¥F awgfe sarer Y aX & 3 9 3 3783 FUT ;ST WIed Blar ¢l TF R Fheeh 87
A)¥.10800 B)%.8000
C)¥.24000 D)%.10000

A sum yields interest of Rs.3783 in 3 years at 5% per annum of compound interest. What is the sum?

A)Rs.10800 B)Rs.8000
C)Rs.24000 D)Rs.10000
Answer Key : C  Your Response : Not Answered Raise Objection(Question No. 47) (objection.aspx?qwr=3310159829&qwer=47)

Question No. 48
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#r T ¥ 30 FFeae Taw @ler, 3R 20 fFeEmA :
#mlmwaﬁmtmﬁmml 459ﬁ&mmm$m3ﬁwﬁm g fpar

g fFT W =T TiRe?
A)T.28.22 B)%.30.22
C)%.29.72 D)%.26.72

Jeeva bought 30 kg of rice at the rate of Rs.18.50 per kg, and 20 kg of rice at the rate of Rs.23.50 per kg. He
mixed these two types of rice. At what price per kg should he sell the mixture to make 45 per cent profit?

A)Rs.28.22 B)Rs.30.22
C)Rs.29.72 D)Rs.26.72
Answer Key : C  Your Response : Not Answered Raise Objection(Question No. 48) (objection.aspx?qwr=3310159829&qwer=48)

Question No. 49
IR pxq=p*+q*-pqe a 12 x 13 H A AT HLI
A)113 B)93
C)157 D)103

If p x g =p?+ g2 - pq, then find the value of 12 x 13.

A)113 B)93
C)157 D)103
Answer Key: C  Your Response : C (Correct) Raise Objection(Question No. 49) (objection.aspx?qwr=3310159829&qwer=49)

Question No. 50

Rafas :r @ frasr fi?
A)gHT 3dr B)3TeldFaiesy FelfHeT
C)wafFR weh D)t & @IS fased AT

Who among the following discovered vitamins?

A)Humphry Davy B)Alexander Fleming
C)Casimir Funk D)None of the options
Answer Key: C  Your Response : C (Correct) Raise Objection(Question No. 50) (objection.aspx?qwr=3310159829&qwer=50)

Question No. 51
IF eW 9 T&W FT W@ ¥ S 852, 1065 HR 1491 F Q-G AT T T §7
A)213 B)193
C)210 D)203

What is the greatest number which divides 852, 1065 and 1491 exactly?
A)213 B)193
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C)210 D)203

Answer Key: A Your Response : A (Correct) Raise Objection(Question No. 51) (objection.aspx?qwr=3310159829&qwer=51)

Question No. 52

T gI-3ih T TE&AT TT F 5/6 & ST § A 38 3wl 1 IRafda #v &7r Jnar §1 3 aF i #F v &
R &, o &A1 T gaT |

A)65 B)56

C)54 D)45

A two-digit number becomes five-sixths of itself when its digits are reversed. If the two digits differ by one, find

the number.

A)65 B)56

C)54 D)45

Answer Key: C  Your Response : Not Answered Raise Objection(Question No. 52) (objection.aspx?qwr=3310159829&qwer=52)

Question No. 53
X% (y) + y% (x)] e HifSw]

A)xy T 2% B)y & x%

C)3 =T xy% D)x T y%

Find (x% of y + y% of x).

A)2% of xy B)x% of y

C)xy% of 3 D)y% of x

Answer Key : A Your Response : Not Answered Raise Objection(Question No. 53) (objection.aspx?qwr=3310159829&qwer=53)

Question No. 54

aRA # Fr AR F1 FH@ FheT dar 82
A)TST FHT 3TEgeT B)dlleh T@T 37eT8T
C)Trsgufa D)9YTAH=T

Who is the head of the Union Council of Ministers in India?

A)Rajya Sabha Speaker B)Lok Sabha Speaker
C)President D)Prime Minister
Answer Key : D  Your Response : D (Correct) Raise Objection(Question No. 54) (objection.aspx?qwr=3310159829&qwer=54)

Question No. 55
Ife o HEAr qEdr #r 80% & AR 37 @t & AT F 4 W, 656 ¢, A HEAT AT P
A)18, 20 B)16, 20
C)8, 10 D)4, 5
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If i %-of the other and 4 times the sum of their squares is 656, then

A)18, 20 B)16, 20

C)8, 10 D)4, 5

Answer Key: C  Your Response : Not Answered Raise Objection(Question No. 55) (objection.aspx?qwr=3310159829&qwer=55)

Question No. 56
39 W & T FYT /U v § 389F g Q) s 1 30 frpd A 9o S 0F F HUR W FEH 39T @
FYel: 1) T S W §1 2) FS W s A §1 3) W s a3 §) Avwd: | W 937w @ w
AT g1 1. FE $o1 sdAF A B
A)dhad say | grefeT T B B)ahad TSy || Ureled &aTr 2l
C)ar ar swy | a7 || 9reiel T &l D)arr fassy | 3R 1l grere #d gl

In this question, three statements are given followed by two conclusions. Choose the conclusion(s) which best
fit(s) logically. Statements: 1) All bags are purses. 2) No purse is black. 3) All blacks are brown. Conclusions:
1. All brown being black is a possibility. Il. No bag is black.

A)Only conclusion | follows B)Only conclusion Il follows
C)Either conclusion | or Il follows D)Both conclusion | and Il follow
Answer Key : D  Your Response : Not Answered Raise Objection(Question No. 56) (objection.aspx?qwr=3310159829&qwer=56)

Question No. 57
A 3 2020 i nfAERE e #
INEIEED B)HIgIer
C)Fd=h 3R fam D)fAYerar

The official mascot of Tokyo Olympics 2020 is-

A)Magique B)Soohorang
C)Quatchi and Miga D)Miraitowa
Answer Key : D  Your Response : Not Answered Raise Objection(Question No. 57) (objection.aspx?qwr=3310159829&qwer=57)

Question No. 58

et & & = MY RT 71T Faer Fr Fa& gl alF F QU FWM? FIGUR : FGIRU :: STRES : ?
A)TRSES B)SRTSE
C)SRSET D)STERS

Which of the following will best complete the relationship given below? FIGUR : FGIRU :: STRES : ?

A)TRSES B)SRTSE
C)SRSET D)STERS
Answer Key: B Your Response : B (Correct) Raise Objection(Question No. 58) (objection.aspx?qwr=3310159829&qwer=58)

Question No. 59

WA F 3F F TIH/ i U F AT AT
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A)28 B)14

C)35 D)21

Find the average of the first five multiples of seven.

A)28 B)14
C)35 D)21
Answer Key : D  Your Response : Not Answered Raise Objection(Question No. 59) (objection.aspx?qwr=3310159829&qwer=59)

Question No. 60
AT AR F 9RREs I #5 9 Rua #
INECIGH B) faeelr
C)de D)IReeT

The thyroid gland in the human body is located in/near the -

A)Armpit B)Spleen

C)Abdomen D)Neck

Answer Key :D  Your Response : C (Wrong) Raise Objection(Question No. 60) (objection.aspx?qwr=3310159829&qwer=60)
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